SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 2)

TEST 1

Name:

Time: Score:

866234 — 501220 =

2 830454 — 120303 =

3 336067 — 106002 =

1374241 — 200230 =

5 471478 — 220346 =

6 317627 — 305600 =

N 630868 — 130737 =

9 913582 — 411261 =

9 774618 — 311311 =

100642036 — 110003 =

15360691 — 310211 =

12) 9550498 — 7530166 =

13552096 — 40086 =

1) 448957 — 234817 =

15 961132 — 761020 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 2
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639663 — 628360 =

732954 — 612110 =

234572 — 371 =

891024 — 220003 =

947623 — 811222 =

531408 — 21007 =

559206 — 424206 =

3634830 — 3502410 =

5902252 — 5801140 =

845885 — 644671 =

907038 — 607018 =

970944 — 510823 =

607947 — 104416 =

232400 — 220400 =

832639 — 821113 =
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